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. 7000 =789 =7

.8x9=7

56 x 8 =7

2l x 67 =7

51 -3 =7

126 -7=7

490 - 14 =7

23xT7T—-80x2=7

306+ (30 — 7 x 3) = ?

120 -37+12x12=7

750+ (13 +111+3) =7
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4 5
12. Evaluate = + Z = (Express the answer in mixed number in its simplest form.) [1%)]
S A& 4 5 3 K gz o) B s AN\ —
AF - (BRARBIEEAT )
ToT 7
5 9 . o
13. Evaluate ITRETL (Express the answer in mixed number in its simplest form.) [1%]
HE 242 o (ERARMAHET )
12 12
1 6 [ W. o
14. Evaluate 4E _3E + 3 (Express the answer in mixed number in its simplest form.)  [1%)]
HI A -3 4 Lo (BERARMAEKT o)
13 13 13
) . . o
15. Evaluate 6 — 26 + s (Express the answer in mixed number in its simplest form.)  [1%)]
2 A 5 2 4 V- ~) B X N\ -
5"'-%‘ 6_26+6 — 6 ° <é\%y/(ﬁ?a 72 :%i/%&ﬂ? ° )
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16. How many line(s) of symmetry are there in the figure below?

ATEH A % Ik stisn?

/N

\/

[2.0%]

17. Amy bakes two dozen cookies every week. If there are 52 weeks in a year. How many [2.1%]

18.

19.

cookies does Amy bake in a year?

DNEHEERE 2T G o wR—FAH 52 EEM BN EE—FAERPES TH
e

The volume of a bottle of lemon tea was 2; L. Jenny drank 1% L and then Alan [2.2%]

4
drank - L. How many liters of lemon tea are left?

—RAA 20 M T 1D g B RRBET b e BABRAEA S
o2

2 4
The height of a pear tree is 45 m. The height of an apple tree is 35 m. The height
3
of a lamp post is 15 m shorter than the total height of the two trees. How tall in
meters is the lamp post?
= 2 L, YN = 4 R ~ PSR S = g3
— R AB = 4= Ko —RARBZH 3z Koo SR AR 6 = B RARBE B B8 48 Fe R 4k

3 ~ = = v )2
Iz Ko BRO[ELE TK?

P.3
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20. Adam has $167. The amount of money Adam has is $23 less than Lily. The amount [2.4%]

Lily has is 5 times the money Nick has. How much does Nick have?

A 167 AR o Mg R A hdkdk Y 23 T MK ERABR L L FHH 5
& %585 VYAERE?

21. If David earns $905 every day, how much does he earn in August? [2.5%)]

K ATA KB $905 > ARJEAMLE N LS V4 ?

22. If a 4-sided shape has four equal sides, then the shape must be a ? . [2.6%)]
fo R — 803 i A 6 v ff g ARAR F 0 AW Y sl R ? o

23. The perimeter of a rectangle is 72 cm. If its length is half of its width, what is the [2.7%)]

length of the rectangle in centimeters?

—ERABORARZE 2 ER - wREHREMG—F > MBRITHORZLE TR
K ?

P. 4
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24. A piece of paper is cut into 2 pieces along the dashed line as shown below and then [2.8%)]
rearrange the two pieces to form a triangle that has the largest perimeter. What is

the perimeter of that triangle in centimeters?

AEUTOREEETH » R leREFRrHR—BRARERKG =AW - T A
B RARZLSE YEKXR?

3 cm

\ 4 cm

1 2
25. Amber ate = of a cake. She ate = of a cake less than Brandy. How much of the cake [2.9%]
did the two girls eat in all?

D ETT % fB&AE > W gt e - BEAL o e T 5 SEEAR?

1
26. Write 501 >

000 25 2 decimal. [3.0%]

51 . .
€501 —— & m—1E ] o
& 50 1000 9.3 ¥

27. Find the length of the following rectangle in meters. [3.1%]

TERFTHMORESZ FK?

Area = 420 cm? 12 cm

P.5
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28. Find the Least Common Multiple of 72 and 84. [3.2%)]

K 72 Fm 84 By AT o

29. If P < Q < R and the factors of R are 1, P, ), and R, then P x Q = ? . [3.3%]

WRP<Q<RAMRYAKZI-P-QRR MEPxQ=__7 o

30. The figure below is formed by three rectangles of the same size. Find its total area. [3.4%)]

TEAG = ARG EFTH AR > REGE @A -

111 cm

P. 6
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31. Find the missing number in the pattern.

RABEHAE » BBEHRE T -

2.1.,3.4, 7,11, 2 .29 ..

32. Evaluate 125 x 7 x 44 x 26.

HE 125 x 7 x 44 x 26 ©

33. How many quadrilaterals (4-sided shape) are there in the following figure?

BPiA % S EwgH?

A+B A-B
34. Define A@B—AXB+A+B,theneva1uat66®3.
N A+B A-B ., .
r”i“gf‘ : — ,\’g o
ExHEHF: AOB Y Y tH 603

35. Find the value of 27 x 37 x 999.

K 27 x 37 x 999 8 4E o

pP.7
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36. There are 25 questions in a math test. The student will receive 4 marks for each [4.5%]
correct answer and 1 mark deducted for each incorrect answer. If Tommy answered

all the questions and got 80 on the test, how many questions did he answer correctly?

—BELRERA B AR c ARF 45 Xéide 1 9o wRIADET A A
B $HF3 80 2 > X HT % &HRA 2

37. There are only chickens and pigs in a barn. A farmer has counted 101 heads and 382 [4.6%]
legs. How many chickens are there in the barn?

BIGREA — e fife—2kgh o B K HB|A 101 B3 382 EMy o Bl EGAER % v &

38. From 1 to 2017, how many numbers are multiples of 20 but not multiples of 177 [4.7%]

W1 E 217 AHZVEETE N GIEELRE 17 9425 °

39. In the following diagram, different letters represent different digits. Which digit does [4.8%)]

Q represent?
ATHXF » FERLFFARETRGET o B TO)] REB—EHF ?
M A T H

X M M
M H O M H

P. 8
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40. Kindaichi is investigating a murder case. Here are the claims from each suspect. [4.9%]

A said, “B is the murderer.”
B said, “A is the murderer.”
C said, “I am no murderer.”

D said, “A is a liar.”

After further digging into the case, Kindaichi concludes that only one of them is lying

and only one of them is the murderer. So, who is the murderer?
LW -EARE-FERE > AT EXOERAY a4 o

F#: TTRBARLF - |

ZH TTABRART ©

A" TRFRARLF -

T3 TPABKE - |

R AE 2 —F RO RBREEAE T RA—AHKS  AREART
RA {8 A ARF R 2

End of paper



ANSWER SHEET

Name

P4

MATH ssascym
CONCEPTITION |, _ _
n 6211 w15 2v $28055/3» 18
) 72 1 g 2) Rh‘/)%'j“s 32 1001000
3 448 1 1 (13— 23 12 33 12
9y 1407 14 1 133 24) 18 34) )
5 4
55 17 |15 25 25) - 35 998001
6 18 |19 6 26 501.051 3 21
n 35 m 1248 » 035 |3n 11
8) 1 18) g 29 504 3 95
3
9) 34 19) 65 29) R 39) 0
10 83 2200 $38 398214cm’ o A
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